8 @giﬁ;ca OIS

2390089 (2022

BAKD - DB @&)@69%)@8

(Dip. In Se¢i. N.LLE./
08 eEFR cOg 6N Qs & BEad: ¢

g0 qe)g aebo odd oo oo BEad ¢
asinbes 0 ar.

l Online Class details — WhatsApp 071 — 9020298 Facebook 3inl Youtube 3inl |




OZ. e

7.1 8023 S88ocD W) ete DS

* 5301 e @) 8O 8d) 0% S8end Brg e D bl
OEEDR® 6N DG 00 60ROFeE ) eNE NDE
(®.020.6%.) @B.

* &&: 6,12,18 €30@00@ B ©0E LNLDGD
I 200 - eNE 600D e ®.6:9.65. 6e38@

68 00D =1,2,8,6
12800 =1,2,8,4,6,12
188 endd> =1,2,8,6,9,18

~ @@ ee0g eNDE = 6

I1 280 - 30D L R OFTOEE et TR ©.03.69.
(C190)

ZE 2112 2]18

313 216 319

1 313 313
1 1

6 =2xl
12 =2x2xl
18 =2xfx3

s @m0 e DB =2x3
=6

I11 20 - eRTe® p@ers ®.6.63. ©c5@
216,12,18

33,6, 9

1, 2, 3

. @®) ee0e BB =2x3
=6




(genﬁbd@m [a10))6) wol#) )

SHD 3TN O O 3.2 DO0CEE ©.6890.630. EEIGBID.

(i) 12, 18 (i) 30, 24 (iii) 45, 60
(iv) 6, 12, 18 (v) 15, 30, 75 (vi) 36, 24, 60
(vii) 6, 9, 12 (viii) 15, 30, 45 (ix) 11, 13, 5
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1,
\/12, 18 = 2x3 =6
| 30, 24 =
45, 60 =

| = 3x5 15
|\|\/6 12,18 = 2x3 =6
\\/15 30,75 = 3x5 =15
Vl/362460 = 2x2x3 12
VI\/6912 = 3 =3
vin/ 15,30,45 = 3x5 =15
| 11,13,5 = 1 1
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4x2 =2 X 2 XX X X
3xy =2 X2 X2XXxXy
5 @®) e8NE BB =2 X X
= 2x
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(i) xy, 3xy, 4x (ii) 4c, 8a, 4b
(iii) 2x, 8x, 4xy (iv) 4p, 8pq, 12pg
(v) 8pgr, 16gr, Tmqr (vi) 4x, 6xy, 8grx
(vii) 4x, 6abx, 10abxy (viil) 6mn, 12mny, 15my
7.1 &BIBED
1.
L/xy, 3xy, 4x = X
IL,/ 4c,8a,4b = 4
II\/ 2x, 8x, 4xy = 2x
l\\/4p, 8pq, 12pq = 4p
\\/8pqr 16qr, 7mqr = qr
V\/4x 6xy, 8qrx = 2x
VI\/ 4x, 6abx, 10abxy = 2x
VII\./6mn, 12mny, 15my = 3m
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o £&): 12x + 20y + 16z, £300DOE QTGN 6@t BEID.

12x =2 X 2 X 3 X x
20y =2 X2 X5Xy ® e:0.e0.=2 X 2
16z =2 X 2 X 2 X2 X1z =4

» 12x + 20y + 16
= 4(3x + Sy + 4z)




* £&: 4x + 8xy - 6xyz, t0DOC TGS 6@ BIDD.

4x =2 X 2 X Xx
8xy =2 X2X2XXxXy
6xyz =2 X3 XX XyXz
s @) @80g NIDE =2 X X
= 2X
s 4x + 8xy - 6Xyz
=2x(2 + 4y - 3yz)
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(1) B3’ ©@sben mom.

M3x+12=3x+3xO=3 (OJ+0)

(i) 15¢ +20y =5 x [ +5 x =5 (C+)

(i) 12¢ +Cd=6 x O +6 x CI=6 (CJ+ 3 )

(iv)12x +8y+20z=4 x (J+4 x O+4 x O =4 (O+O+O)
(v) 30x + 24y +18 = [1 (5x + I+ [y

(2) o scws 88 O 88n gmvmed ©cdc ©.00.6). 823 Do O
eCH, 923 O3 SDMIOMB NI DD PEHDHB GC CeBM.

(@) (i) 2x + 6y (ii) 8x + 12y (iii) 15a +18b
(iv) 9x + 27y (v)4p + 20q (vi) 12p + 30q
(vii) 20a — 30b (viii) 36a — 54b (ix) 60p —90g

(b) (i) 5x — 10y + 25 (ii) 3a + 15b — 12 (iii) 18 — 12m + 61
(iv) 10a —20b — 15 (v)9c¢ — 18a + 9 (vi) 12d + 6 + 18¢
(vii) 3x + 6y — 3 (viii) 10m +4n —2 (ix) 12a — 8b + 4
(x)9 + 3b + 6¢ (xi) 3a@* — 6ab + 9b* (xii) 4a* — 16ab — 12¢

7.2 eBIE3R

1.
\/x+12=3xx+3x4=3(x+4)

15x+ 20y =5 X% 3x+ 5 X4y =5 (3x + 4y)
| 2a+18=6x2a+6%xXx3=6(2a+3)

IV, 2x+ 8y +20z=4%x3x+4 X2y +4X5z=43x+2y+5z)
30x + 24y + 18 = 6 (5x+ 4y + 3)



6y =2 (x+3y)

+ 12y =4 (2x + 3y)
a +18b = 3 (5a +6b)
+ 27y =9 (x + 3y)
+ 20q =4 (p +5q)

N

SN

+ 30q =6 (2p +5q)
VI\/{a- 30b =10 (2a - 3b)
lel\fga- 54b = 18 (2a - 3b)

I 60p - 90q =30(2p - 3q)

e

- 10y + 25 =5(x-2y+5)

I\/(+15b-12 =3(a+5b-4)
I%—12m+6n =6(3-2m + n)
I a-20b-15 =5Ra-4b-3)
\(/6-18a+9 =9(c-2a+1)
V\/(+6+18c =62d+1+ 3¢
Vl(/za+6y-3 =3(x+2y-1)
VII\/{m+4n-2 =2(Bm+2n-1)
I)(/ﬂ'a-8b+4 =4(3a-2b+1)
)‘/3b+6c =33 +b+2)
X\/4-6ab + 9b? =3 (a%?-2b + 3b?)
Xl\ﬁz- 16ab - 12c =4 (a2-4ab - 3¢)
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() =12k =4y (i) — 12x + 4y (iii) 12x — 4y
(iv) — 3a + 15b — 6¢ (v)— 12a + 18b — 24c (vi) — 8p + 40g — 24
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II\A(?}X—y)
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e £ 15pq + 45qr + 60q, £NDOR WIS 6EH BRD.

15pq =3 X5 Xp X
45qr =3 X3 X5§Xx@gXr ©®e®en=3xX5xq
60q =2 x2x3x5x[ = 15q
« 15pq + 45qr + 60q
= 15q(p +3r + 4)
o £&): 3a + 6ab + 12ac, £0DOC QFTVOED 6@ Bued.
SO ene eND® =3 X a
= 3a

~ 3a + 6ab + 12ac
=3a(1+2b-4c¢)




(7.4 GOED )

(1) s ¢Eedn O3 815 SIOHG LNVD gD Q&G G Comm.

(i) ab + ac (i) p + pg (iii) xyz + xpq
(iv) 3x + 6xy (v) 15pg —20pr (vi) 4p — 16pq + 12pr
(vii) 2a — 8ab — 8ac (viii) 5x — 10xy — 5xz (ix) 3ab —9abc
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A B

()2 (x+2y+5) 10a — 2ac + 4ab

(i) 4 (2a + b + 3¢) 15xyz — 25xy + 20xz
(iii) 5 (2a — 1 + 3b) 4p*r + 2qr + 2pqr
(iv) 4 3x — 2y + 52) 12x — 8y + 20z

(v) 4p(a+b+1) 2x + 4y + 10

(vi)2a (5—c +2b) 12x — 6Xy + 9xZ
(vii) x (2 —3y +3)°) 8a+ 4ab — 4ac
(viii) 4a (2 + b —¢) 4ap + 4bp + 4p

(ix) 5x (3yz — 5y + 4z2) 10a — 5+ 15b

(x) 3x (4 — 2y + 32) 8a + 4b + 12¢

(xi) 2r (2p° + g + pq) 2x — 3xy + 3x)”
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1.
ab + ac
(b+o¢)
'\/; +pq
(1+q)
I, Xyz + xXpq

x(yz + pq)
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IM./ 3x + 6xy
x(1 + 2y)

. S5pq - 20pr
p(3q - 4r)
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. 4p - 16pq + 12pr
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. ab - 9abc
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N

: p +pq + pqr
p(1+q+qr)

. Xp - Xy - X

X(p-y-1)

N

6ab - 8ab2 + 12ac
2a(3b - 4b2% + 6¢)

¢

10a - 2ac + 4ab

(x+2y+5)
. (2a+b + 3¢) 15xyz - 25xy + 20xz
. (Ra-1+ 3b)\ Z4p2r + 2qgr + 2pqr
. (3x - 2y + 5z) >12x - 8y + 20z

W

. p(a+b+1)
. a(5-c+2b)
X (2-3y +3y?
a(2+b-¢)

R

. x (4 - 2y + 37)

x

x (3yz - Sy + 4z)

2r 2p2+q+pq)

2x + 4y + 10
12x - 6xy + 9xz
8a + 4ab - 4ac
4ap + 4bp + 4p
10a-5+ 15b
8a+4b + 12c¢
2x - 3xy + 3xy?
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4 (3a + 2b + 3a")

3a (2p + 3r+6)

2a (a + 3b + 2ac)

2 (3ab + 4bc — sac)

3x (2pg + 3x + 6p)

6 (2x)” + 3xy + 42)

3ab — 6ab + 12ac

8xy — 12px — 20axy

(5) Dped Befmxs wdyba nowm.
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—4x + 12 4 ] sesssssscssssstseessssssisessises s
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— 6x + 8y A
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—2a+4b—6c —2 ] e
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4,

4 (3a + 2b + 3a?)

. 12a + 8b + 12a2
I\./ a + 27ac2 + 18ab
6ap + 9ar + 18a

I\‘\\.%2a2 + 6ab + 4a%c

8xy + 24xp + 40xq

9a(1 + 3ac2+2b
3a(2p + 3r + 6)
2a (a + 3b + 2ac)
8x(y + 3p + 5q)



. ab + 8bc - 10ac
xpq + 6x2 + 18xp
. 12xy? + 18xy + 24z
ab - 6ab + 12ac
xy - 12px - 20axy

KK

Z4x + 12

“4x + 12

. = 6x + 8y

. = 6x + 8xy

: =2a+4b - 6¢
. Z2a+ 4b - 6¢
=3ab-9b

VII\, Xy - 8xyz

I Sxy + 10xy + 10py

AL

. 030630@03...

2 (3ab + 4bc - Sac)
3x (2pq + 3x + 6p)
6 (2xy?2 + 3xy + 4z)
3a(b - 2b + 4¢)
4x(2y - 3p - Say)

4 (-x+3)

-4 (x-3)

2 (- 3x + 4y)
-2x(3-4)
2(-a+2b-30¢)
-2(a-2b + 3¢)
-3b(a+3)
2xy (1 - 4z)

S5y (x + 2x + 2p)
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01).

Bedmzs oDsIH.

@ 10x+8 = I:iX5x+|:] x4y = | ( + )
(i) Cx-Cy = Cx -Cx = ( X - yI)
(@) 12x+20y = [ |x3x+ x5y = [(CJ+[)
(v) 10x-25 = x2- [ |x[] = (C1-0)
M W+3 = [o+[x1 = OJ(O+0O)
02).

BB ZEDIRDE @830¢ €300 D53 290 Bsziz.

() Sx+15 (ii) 6x-6 (i) 10-10x

(iv) 4x+8 (v) 8y-24 (vi) 4x+6y

(vii) 12x-18y (viii) mx - my (ix) xy+y

x) Y-y (xi) 2x*-6x (xii) 5x’y-10x)"
03).

@2e0¢ 3002 @03 3 Busim.

(@) 3x+t6y+9 (@) 12x+15y+6z (iii) 8a-4+2b
(iv) 15-10x+15y (v) 15x-20y+10 (vi) xa+xb+xc
(vii) xa’+xa-x (viid) Y’ +y' +y (ix) a'x-ad'y+a'z

(x) 18x’-12xy+9x)”



04).

Beson 53 YoOBIB.

@ 3x+12 = 3([]+[])

(i) 5x- = 5([1-4)

(iif) xy = x(x-[])

(fv) 4x-x+xp = x( - + )
v y-Sy+ = (y-[]+3)

(vi) 12a-18b+6 = (2a- + )
(vii) 4m’-[]-12m = 4m(m- 3n - [])
(viii) 15p-10g+5 = ( - + )

E5120p3@: Hesziz Ef)ecs @csr






MEDE) Bepes - eme® 10
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[segm] [ O ] [ Bone : 7 0 ]
1.
. 10x + 8y =2X5x+2X4y =2 (5x + 4y)
. cx+cy =cXx+cXy =c(x +y)
M. 12x+20y =4X3x+4XJSy =4 (3x + Sy)
IV. 10x-25 =5X2x+5X5 =502x+ 5)
V. 3y+3 =3Xy+3X1 =3(y +1)
2.
. S5(x+3) Vil. 6 (2x — 3y)
. 6(x-1) VIl. m (x-Y)
m. 10 (1-x) IX. y(x+1)
IV. 4(x+2) X. y(y-1)
V. 8(y-3) XI. 2x(x-3)
VI. 2 (2x + 3y) Xll. Sxy (x-—-2y)
3.
. 3(x+2y+3) VI. x(a+b+¢)
Il. 3 (4x + 5y + 22) VII. x(a2+a-1)
. 2(4a-2+Db) VIl. y(y2+ y+1)
IV. 53 -2x+ 3y) IX. aZ(x-y+2z)
V. 5(B3x-4y+2) X. 3x(6x—4y + 3y?)
4,
. 3x+12 =3(x+4)
. 5x-20 =5(x-4)
.  x2-xy =x(xX-Y)
IV. 4x-x+Xxy =x(4-x+Yy)
V. y2-Sy+ 8y =y(y-5+38)
VI. 12a-18b+6 =6(2a-3b+1)
VII. 4m?-12mn - 12m =4m (m — 12n - 3)

Vill. 15p-10q + 5 =5@p-2q+1)
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